LLAHFOBbIVI HABOP
ANA OPE3EPHOIO MATPOHA ER

SYIC - 04900

SYIC

» Habop = (aurn ER X K011-B0) + QpesepHblit IaTPOH + TaeYHBIIT K/TI0Y + IITACTUKOBBII KOHTEIHep;
« Pasmemas 3akas, yKasplBaiiTe HeOOXOMMbIE pa3Mepbl XBOCTOBMKA IIATPOHA.

Tun Pasmep uaHr Tun

MTB3 XER32 x6uwr. | M12 x 1,"7.5.3.13,1 12” W12. ......
MTB4 XER32 RGmm Ml6 x 2,0P, 58 Wil
R8xER32x6mr. N IN6"NF20
NT30 X.Ei{32 xom: G MI2 x 1;%121/2” Wiz
MTB3 XER40 x7mr | M12x 1;;;1{1/2” wiz
MTB4 XER40 X 7 IT. M16 x 2,0P, 58 Wil
R8x ER4O < 6, 8,10, 12, 16, 20, 25 MM 7/.1"6"NF20 .......
NT30 x ER40 x 7 mur. M12 x 1.,'7“5.P,1/2” wiz
NT40 x.£ﬁ40 x7wr M16 x 2,0P, 58" Wil

MTB3 x ER32 x 18 miT.

e SYIC - 04914 QLB+ x ERGER 8 . 3,4,5,6,7,8,9,10, 11, 12, M16x2,0P 58" Wil
SYIC - 04915 R 8 x ER32 x 18 mr. 13, 14, 15, 16, 17, 18, 19, 20 7/16” NF20
SYIC - 04916 NT30 x ER32 x 18 murt, MM M12 x 1,75P,1/2” W12
SYIC - 04917 NT40 x ER32 x 18 1t M16 x 2,0P, 5/8” W11
SYIC - 04919 MTB4 x ER40 x 23 1t M16 x 2,0P, 5/8” W11

. P2 Z AN NERBIAD A 4,5,6,7,8,9,10, 11, 12, 13, I IR
SYIC - 04921 NT30 x ER40 x 23 1T, 14,15, 16, 17, 18, 19, 20, 21, MI12 x1,75P1/2” W12
SYIC - 04922 NT40 x ER40 x 23 . 22,23, 24, 25,26 mm M16 x 2,0P 5/8” W11
SYIC - 04923 NT50 x ER40 x 23 1t M24x3,0P,1” W 8
SYIC - 04925 NT40 x ER50 x 17 1t 6,7,8,9,10,12, 14, 16, 18, M16 x 2,0P, 5/8” W11

................................................................. 2032 24, 26,28, 30, 39, 34
SYIC - 04926 NT50 x ER50 x 17 1t M24x3,0P,1” W 8

SYIC - 04935

R 8 x ER40 x 15 miT.

4,5,6,8,10,12,13, 15, 16,
18, 20, 21, 23, 25, 26 MM

M24x3,0P,1” W 8

DIN ISO 15488






